# APPLICATION OF FOURIER TRANSFORM TO SINGULAR INTEGRAL EQUATION OF THE FIRST KIND. 

Kalu Uchenna

Department of Mathematics, Michael Okpara University of Agriculture, Umudike, Umuahia, Abia State, Nigeria.


#### Abstract

Many physical problems that are usually solved by differential equation methods can be solved more effectively by integral equation method. In this paper, we explored Leibniz's method for Singular Integral Equation of the first kind to obtain a boundary value problem, which only gives a trivial solution at $t \approx 0$ for some integer $n$, we further assume the problem to be a non-homogeneous which on applying the Fourier Transform yield a one half of the two-sided decaying exponential function.


Keywords: Singular Integral Equation of the first kind, Leibniz's rule, Fourier Transform.

## 1. Introduction

An integral equation is an equation in which the unknown function to be determined appears under the integral sign. The integral equation is said to be linear if the unknown function under the integral sign occurs linearly otherwise it is nonlinear. The most frequently used linear integral equations falls under two classes namely; Fredholm and Volterra integral equations. However, the integral equation is said to be singular if the integration is improper. This usually occurs if the interval of integration is infinite, or if the kernel becomes unbounded at one or more points of the interval of consideration. In the theory of integral equations, the convolution type integral equations and singular integral equations are two important classes of equations, which had been studied by many mathematical researchers and there were already rather complete theoretical systems [4,5]. These theories have been widely used in practical applications, such as engineering mechanics, fracture mechanics, and elastic mechanics [8, 9]Many researchers have applied the singular integral equation in different areas of Mathematics, the solution of this integration can be obtained both analytically and numerically. [1,2]in their paper gave the exact solutions of a singular integral equation with logarithmic singularities in two classes of functions and construct formulae for the approximate solutions. [3], in their paper investigated the numerical solution of various cases of Cauchy type singular integral equations using reproducing kernel Hilbert space method. Other researchers [7-12] have applied the singular integral equation of the first kind in different areas of Mathematics, for instance, [7] presented a new numerical technique to discover a new solution of singular nonlinear Volterra Integral Equations. The technique is delineated with two numerical cases to illustrate the benefit of the techniques used.
2. Preliminaries

Definition 2.1: (Leibniz's rule); let $f(t)=\int_{\alpha}^{\beta} G(t, x) d x$, where $\alpha=\alpha(t)$ and $\beta=\beta(t)$, then
$\frac{d f(t)}{d t}=\frac{d}{d t} \int_{\alpha(t)}^{\beta(t)} G(t, x) d x=\int_{\alpha(t)}^{\beta(t)} \frac{\partial G(t, x)}{\partial t} d x+G(t, \beta(t)) \frac{d \beta(t)}{d t}-G(t, \alpha(t)) \frac{d \alpha(t)}{d t}$
Definition 2.2 (Singular integral equation of the first kind): The integral equation is said to be singular if the lower limit, the upper limit orboth limits of integration are finite. It is said to be of the first kind if
$f(x)=\lambda \int_{\alpha(x)}^{\beta(x)} K(x, t) u(t) d t$
Where, $\alpha(x)$ and $\beta(x)$ are the lower and upper limits respectively of the integration, $K(x, t)$ is the kernel of the integral equation.
Definition 2.3 (Fourier Transform); The Fourier Transforms of the function $y(x, t)$ with respect to $x$ is defined as
$\mathfrak{J}\{y(x, t)\}=\hat{y}(\xi, t)=\frac{1}{2 \pi} \int_{-\infty}^{\infty} y(x, t) \exp (i \xi x) d x$
Theorem 2.4 (Fourier Inversion Theorem); Let $\mathfrak{J}\{y(x, t)\}=\hat{y}(\xi, t)$ be the Fourier Transform of $y(x, t)$, we defined the inverse
Fourier Transform of $\widehat{y}(\xi, t)$ as
$y(x, t)=\mathfrak{J}^{-1}\{\hat{y}(\xi, t)\}=\frac{1}{2 \pi} \int_{-\infty}^{\infty} \hat{y}(\xi, t) \exp (-\xi x) d \xi$
Definition 2.5 (Fourier Transform of $\frac{\partial u(x, t)}{\partial t}$ ); the Fourier Transform of $\frac{\partial u(x, t)}{\partial t}$ is given as
$\frac{\partial \widehat{u}(\xi, t)}{\partial t}=\int_{-\infty}^{\infty} \frac{\partial u(x, t)}{\partial t} \cdot \exp (-i \xi x) d x=\frac{\partial}{\partial t}\left\{\int_{-\infty}^{\infty} u(x, t) \exp (-i \xi x) d x\right\}$
Definition 2.6 (Fourier Transform of $\frac{\partial^{2} u(x, t)}{\partial x^{2}}$ ); the Fourier Transform of $\frac{\partial^{2} u(x, t)}{\partial x^{2}}$ as
$\frac{\partial^{2} \widehat{u}(\xi, t)}{\partial x^{2}}=\int_{-\infty}^{\infty} \frac{\partial^{2} u(x, t)}{\partial x^{2}} \cdot \exp (-i \xi x) d x=-\int_{-\infty}^{\infty} \frac{\partial u(x, t)}{\partial x}\{(-i \xi) \cdot \exp (-i \xi x)\} d x$
$=(i \xi) \int_{-\infty}^{\infty} \frac{\partial u(x, t)}{\partial x} \cdot \exp (-i \xi x) d x=(i \xi)^{2} \int_{-\infty}^{\infty} \frac{\partial u(x, t)}{\partial x} \cdot \exp (-i \xi x) d x=(i \xi)^{2} \widehat{u}(\xi, t)$
Definition 2.7 (Derivative property of the Fourier Transform): The Fourier Transform of the derivative of $g(t)$ is given by:
$\mathfrak{J}\left\{\frac{d g(t)}{d t}\right\}=2 i \pi f . G(f)$
Definition 2.8 (Duality property of the Fourier Transform): Suppose $g(t)$ has Fourier Transform $G(t)$. Then we automatically know the Fourier Transform of the function $G(t)$ :
$\mathfrak{J}\{G(t)\}=g(-f)$
3. Main Results

We consider the singular integral equation of the form

$$
\begin{equation*}
y(t)=\lambda \int_{0}^{1} K(t, x) y(x) d x \tag{3.1}
\end{equation*}
$$

where,
$K(t, x)= \begin{cases}t(1-x) & \text { for } t \leq x \leq 1 \\ x(1-t) & \text { for } 0 \leq x \leq t\end{cases}$
Equation (1) can be written as
$y(t)=\lambda \int_{0}^{t} x(1-t) y(x) d x+\lambda \int_{t}^{1} t(1-x) y(x) d x$
Applying the Leibniz's rule
$\frac{d f(t)}{d t}=\frac{d}{d t} \int_{\alpha(t)}^{\beta(t)} G(t, x) d x=\int_{\alpha(t)}^{\beta(t)} \frac{\partial G(t, x)}{\partial t} d x+G(t, \beta(t)) \frac{d \beta(t)}{d t}-G(t, \alpha(t)) \frac{d \alpha(t)}{d t}$
If we differentiate (2) with respect to $t$, we get
$\frac{d y(t)}{d t}=\lambda \frac{d}{d t} \int_{0}^{t} x(1-t) y(x) d x+\lambda \frac{d}{d t} \int_{t}^{1} t(1-x) y(x) d x$
Now, for $\lambda \frac{d}{d t} \int_{0}^{t} x(1-t) y(x) d x$
Here, $G(t, x)=x(1-t) y(x) \Rightarrow \frac{\partial G(t, x)}{\partial t}=-x y(x), \alpha(t)=0 \Rightarrow \frac{d \alpha(t)}{d t}=0$,
$\beta(t)=t \Rightarrow \frac{d \beta(t)}{d t}=1, G(t, \beta(t))=G(t, t)=t(1-t) y(t), G(t, \alpha(t))=G(t, 0)=0$
Substituting this into (3.3), gives
$\lambda \frac{d}{d t} \int_{0}^{t} x(1-t) y(x) d x=\lambda \int_{0}^{t}-x y(x) d x+\lambda t(1-t) y(t)$
For $\lambda \frac{d}{d t} \int_{t}^{1} t(1-x) y(x) d x$
Here, ${ }_{G}(t, x)=t(1-x) y(x) \Rightarrow \frac{\partial G(t, x)}{\partial t}=(1-x) y(x), \alpha(t)=t \Rightarrow \frac{d \alpha(t)}{d t}=1$,
$\beta(t)=1 \Rightarrow \frac{d \beta(t)}{d t}=0, G(t, \beta(t))=G(t, 1)=0, \mathrm{G}(t, \alpha(t))=G(t, t)=t(1-t) y(t)$
Substituting this into (3.3), gives
$\lambda \frac{d}{d t} \int_{t}^{1} t(1-x) y(x) d x=\lambda \int_{t}^{1}(1-x) y(x) d x-\lambda t(1-t) y(t)$
Journal of the Nigerian Association of Mathematical Physics Volume 55, (February 2020 Issue), 43 - 46

Combining (3.5) and (3.6), gives
$\frac{d y(t)}{d t}=\lambda \int_{0}^{t}-x y(x) d x+\lambda \int_{t}^{1}(1-x) y(x) d x$
If we further differentiate again, we get
$\frac{d^{2} y(t)}{d t^{2}}=\lambda \frac{d}{d t} \int_{0}^{t}-x y(x) d x+\lambda \frac{d}{d t} \int_{t}^{1}(1-x) y(x) d x$
For $\lambda \frac{d}{d t} \int_{0}^{t}-x y(x) d x$
Here,
$G(t, x)=-x y(x) \Rightarrow \frac{\partial G(t, x)}{\partial t}=0, \alpha(t)=0 \Rightarrow \frac{d \alpha(t)}{d t}=0, \beta(t)=t \Rightarrow \frac{d \beta(t)}{d t}=1, G(t, \beta(t))=G(t, t)=-t y(t), G(t, \alpha(t))=G(t, 0)=0$
Substituting this into (3.3), gives
$\lambda \frac{d}{d t} \int_{0}^{t}-x y(x) d x=-\lambda t y(t)$
For $\lambda \frac{d}{d t} \int_{t}^{1}(1-x) y(x) d x$
Here,
$G(t, x)=(1-x) y(x) \Rightarrow \frac{\partial G(t, x)}{\partial t}=0, \alpha(t)=t \Rightarrow \frac{d \alpha(t)}{d t}=1, \beta(t)=1 \Rightarrow \frac{d \beta(t)}{d t}=0, G(t, \beta(t))=G(t, 1)=0, G(t, \alpha(t))=G(t, t)=(1-t) y(t)$
Substituting this into (3.3), gives
$\lambda \frac{d}{d t} \int_{t}^{1}(1-x) y(x) d x=\lambda(1-t) y(t)$
Combining (9) and (10), gives
$\frac{d^{2} y(t)}{d t^{2}}=-\lambda t y(t)-\lambda(1-t) y(t)=-\lambda t y(t)-\lambda y(t)+\lambda t y(t)=-\lambda y(t)$
Hence, the Singular integral equation is equivalent to the boundary value problem
$\left\{\begin{array}{l}\frac{d^{2} y(t)}{d t^{2}}+\lambda y(t)=0 \\ y(0)=y(1)=0\end{array}\right.$
The solution of the homogeneous problem, for $\lambda>0$ is given as
$y(t)=\alpha_{1} \sin \sqrt{\lambda t}+\alpha_{2} \cos \sqrt{\lambda t}$
$y(0)=0 \Rightarrow \alpha_{2}=0$ and $y(1)=0 \Rightarrow \alpha_{1} \sin \lambda=0$, so either $\alpha_{2}=0$ which only gives the trivial solution $y \approx 0$ or $\sqrt{\lambda}=n \pi$, for some integer $n$ and $\lambda=n^{2} \pi^{2}$.
Hence, the eigenvalues are $\lambda_{n}=n^{2} \pi^{2}$ and the corresponding Eigen-functions are $\mathrm{y}_{n}(t)=\sin (n \pi t)$
For the non-homogeneous, we assume the right hand side to be $-g(t)$ and $\lambda=1$, so that the equation (12) becomes
$\left\{\begin{array}{l}\frac{d^{2} y(t)}{d t^{2}}+y(t)=-g(t) \\ y(0)=y(1)=0\end{array}\right.$
We are looking for the function $y(t)$ that will satisfy equation (14). Since the Fourier Transform is a linear operation, the time domain will produce an equation where each term corresponds to the term in the frequency domain. If we take the Fourier Transform of (14), we get

$$
\left\{\begin{array}{l}
\mathfrak{F}\left\{\frac{d^{2} y(t)}{d t^{2}}\right\}+\mathfrak{J}\{y(t)\}=\mathfrak{J}\{-g(t)\}  \tag{3.15}\\
y(0)=y(1)=0
\end{array}\right.
$$

Equation (15) can be written as

$$
\left\{\begin{array}{l}
\mathfrak{J}\left\{\frac{d^{2} y(t)}{d t^{2}}\right\}+K(f)=-G(f)  \tag{3.16}\\
y(0)=y(1)=0
\end{array}\right.
$$

Journal of the Nigerian Association of Mathematical Physics Volume 55, (February 2020 Issue), 43 - 46

If we recall the differential property of the Fourier Transform, we observe that the derivatives in time become simple multiplication in the frequency domain i.e.
$\mathfrak{F}\left\{\frac{d y(t)}{d t}\right\}=(2 i \pi f) K(f), \mathfrak{F}\left\{\frac{d^{2} y(t)}{d t^{2}}\right\}=(2 i \pi f)^{2} K(f), \ldots, \mathfrak{J}\left\{\frac{d^{n} y(t)}{d t^{n}}\right\}=(2 i \pi f)^{n} K(f)$
Equation (16) becomes
$(2 i \pi f)^{2} K(f)+K(f)=-G(f)$
$\Rightarrow\left\{(2 i \pi f)^{2}+1\right\} K(f)=-G(f)$
$\Rightarrow K(f)=-\frac{G(f)}{(2 i \pi f)^{2}+1}=-\frac{G(f)}{1-4 \pi^{2} f^{2}}$
In general, the solution is the inverse Fourier Transforms of the result in (19).
We observe that the multiplication of the two functions in the time domain results to a convolution in the Fourier domain. In other way, the multiplication of two functions in the Fourier domain will give the convolution in the time domain. Therefore, we have
$y(t)=\mathfrak{J}^{-1}\{K(f)\}=\mathfrak{J}^{-1}\left\{-\frac{1}{1-4 \pi^{2} f^{2}} \times G(f)\right\}=\mathfrak{J}^{-1}\left\{-\frac{1}{1-4 \pi^{2} f^{2}}\right\} * \mathfrak{J}^{-1}\{G(f)\}$
$=\frac{e^{-|t|}}{2} * g(t)=\frac{1}{2} \int_{-\infty}^{\infty} e^{-|t-\xi|} g(\xi) d \xi$
Observe that the solution to the non-homogeneous side also satisfied the boundary condition.
Hence, the general solution is the sum of the solution we obtained i.e.
$y(t)=\alpha_{1} \sin \sqrt{\lambda t}+\alpha_{2} \cos \sqrt{\lambda t}+\frac{1}{2} \int_{-\infty}^{\infty} e^{-|t-\xi|} g(\xi) d \xi$

## 4. Conclusion

It is shown in this work that singular integral equation of the first kind can be converted to boundary value problem. We further show that the Boundary value problem obtained when solved gives a trivial solution, also when we assume the problem to be a non-homogeneous and applying the Fourier Transform we obtained a one half of the two-sided decaying exponential function.

## 5. Acknowledgements

First of all, I will like to express my deepest gratitude to God Almighty for giving me the strength to initiate and execute this work. Special honor goes to my M.Sc. supervisor in the person of Dr. S. O. Maliki, without whose singular effort, I could not have had the endurance and perseverance to complete my Thesis. I am deeply grateful Sir for your great inspiration, excellent guidance, deep thoughts and friendship during the course of the work. I also appreciate my other Lecturers and colleagues for their encouragements. Thank you all for your effort I cannot do without you people.

## References

[1] Pawel, J. W., Shehsko, M. A. and Pylak, D. (2012). Solution of a class of the first kind singular integral equation with multiplicative Cauchy kernel. Annals UMCS Mathematics 66(2).
[2] Dezhbord, A., Taher, L., Katayoun, M. (2016). A new efficient method for cases of the singular integral equation of the first kind. Journal of Computatinal and applied Mathematics. Vol. 296, pp. 156-169.
[3] Nakazi, T. and Yamamoto, T.(2014). Normal Singular Integral Operators with Cauchy Kernel on L 2, Integral Equations and Operator Theory, vol. 78, no. 2, pp. 233-248.
[4] P. Wójcik, M,. Sheshko, A. and S. M. Sheshko (2013). Application of Faber polynomials to the approximate solution of singular integral equations with the Cauchy kernel. Differential Equations, vol. 49, no. 2, pp. 198-209.
[5] Lenord, A., Mullikin, T. W. (1964). An application of singular integral equation theory to a Linearized problem in Couette flow. Annals of Physics, pp. 235-248.
[6] Bitsadze, L., (2002). Application of singular integral equations in the Boundary Value Problems of Elasticity. Georgian Mathematical Journal. Vol. 9Number 1, pp. 1-12.
[7] Pingrun Li (2017). Some classes of singular integral equations of convolution type in the exponentially increasing functions.Journal of Inequalities and Applications. Vol. 1. pp. 307.
[8] Mohamed, R.A., Mohamed, M.M., Wen-Xiu, M. (2019). Solution of Nonlinear Volterra Integral Equations with weakly Singular Kernel by using the HOBW method. Advances in Mathematical Physics. Vol. 2019, Article ID 1705651, pp. 10.
[9] Ramadan, M.A., Ali, M.R. (2017). Solution of integral and integro-Differential equations system using Hybrid orthonormal Bernstein and block-pulse functions. Journal of Abstract and Computational Mathematics. Vol.2, pp. 35-48.
[10] Jiang, Y. and Xu, Y. (2010).Fast Fourier-Galerkin methods for solving singular boundary integral equations: Numerical integration and precondition, Journal of Computational and Applied Mathematics, vol. 234, no. 9, pp. 2792-2807.
[11] Du, H. and J. Shen, (2008).Reproducing kernel method of solving singular integral equation with cosecant kernel, Journal of Mathematical Analysis and Applications, vol. 348, no. 1, pp. 308-314.
[12] Li, P. (2017).Generalized convolution-type singular integral equations. Applied Mathematics and Computation, vol. 311, pp. 314-323.

